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BENES—ERGHE

1,586,755,000

1,485,903,210

A 100,851,790

1,624,737,000

1,520,000,000

A 104,737,000

1,660,190,000

1,530,000,000

A 130,190,000

thig Z AR —E XA E 842,302,000 792762551 A 49,539,449 875,634,000 835,000,000 A 40,634,000 897,249,000 876,000,000 A 21,249,000

MR N EY—ERBHE 1,283563,000|  1,246,021915 A 37,541,085  1,284,275000(  1,280,000,000 A 4275000  1,284,275000(  1,346,000,000 61,725,000
EBEY—EXFTEKTE 225,782,000 210,299,461 A 15482,539 232,343,000 220,000,000 A 12,343,000 236,664,000 220,000,000 A 16,664,000

@ EERILAEBAKMSE 3,876,000 4,581,001 705,001 3,876,000 6,000,000 2,124,000 3,876,000 6,000,000 2,124,000
f_ﬁr BEXEREHRSTE 10,670,000 6,846,668 A 3823332 10,670,000 10,000,000 A 670,000 10,670,000 10,000,000 A 670,000
# NEFHY—ERGTE 42,626,000 51,316,491 8,690,491 44,069,000 58,200,000 14,131,000 44,818,000 62,300,000 17,482,000
FHHY—E RGBT E 8,691,000 11,155,871 2,464,871 8,858,000 12,600,000 3,742,000 8,967,000 12,600,000 3,633,000

g mERF Y —ERBTE 0 3,135,501 3,135,501 0 3,400,000 3,400,000 0 6,400,000 6,400,000
FHHEILAEBAKME 608,000 814,452 206,452 608,000 800,000 192,000 608,000 1,500,000 892,000
FHHEEREHRTE 2,630,000 3,247,742 617,742 2,630,000 5,000,000 2,370,000 2,630,000 7,000,000 4,370,000
SEENEY—ERBEEHRGE 78,189,000 87,886,014 9,697,014 78,699,000 91,200,000 12,501,000 79,839,000 95,200,000 15,361,000
BHEEERSENES—EXRBEEHRMNEE 5,644,000 11,445,090 5,801,090 5,734,000 13,000,000 7,266,000 5,817,000 13,000,000 7,183,000
HEAMEBENEY—ERESFIRTEE 86,365,000 96,837,777 10,472,777 77,035,000 90,000,000 12,965,000 78,157,000 89,200,000 11,043,000
HEXMRBEEXIILFHH 4,451,000 4,331,349 A 119,651 4,522,000 4,800,000 278,000 4,588,000 4,800,000 212,000
& § 4,182,152,000|  4,016,585093| A 165566,907|  4,253,690,000| 4,150,000,000, A 103,690,000 4,318,348000(  4,280,000,000( A 38,348,000




WX EEEE (TN2~55FF)

B M. %
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- (a) (b) (¢) (c/b)
(1) NEFH-ETIEF—EXEZE 38,606,253 42,784,717| 49,658,000( 53,230,000 107.2 %
NEFH-EEFXIEY—EREEXAES 35,329,749 39,843,861| 45,519,000( 49,000,000 107.6 %
NEFH-EFXEY—EXFEMBS G 1,113,900 1,276,440 1,532,000 1,720,000 112.3 %
NEPH - EEFXEY—ERBEHDE EBRY) -
BRSSP ESEEEETAN 1,900,350 1,513,800|  2,085000| 2,190,000 105.0 %
ZDfh 262,254 150,616 522,000 320,000 61.3%
(2) NEFHTTINRIAEE 11,174,753 6,834,420 6,778,000/ 7,100,000 104.8 %
(8) —MNEFIHEX 3,291,546 3,148,370| 6,434,000 6,811,000 105.9 %
gézﬁﬁf NEFHEHNSEESLATS 2,695000| 2844000 5420000 5900000  108.9 %
BXR NS —ERBERYNEUXIESLEHE 86,000 10,000 300,000 200,000 66.7 %
NETFHEMBIRESE 85,000 95,000 300,000 300,000 100.0 %
CEMTRIKOLHEBERBRE - 7+ O0—T7 v THE 92,956 181,070 247,000 257,000 104.0 %
BUVEFINEYEERTH 315,700 —
FOESHBRERBEREN 0 15,000 85,000 85,000 100.0 %
TRO—FEEEFTH 21,000 28,000 1333 %
Z D 16,890 3,300 61,000 41,000 67.2 %
(4) —BNEFPHEEANGE) 22,402,232 21,215,272| 24,547,000 23,389,000 95.3 %
INET(A) 75,474,784 73,982,779 87,417,000 90,530,000 103.6 %
(1) aAENMXIEEX 57,848,717 86,447,537| 88,980,000( 90,671,000 101.9 %
BEEHREE 21,309,871 49,339,517| 49,040,000 49,044,000 100.0 %
RS X 236,598 232,080 436,000 474,000 108.7 %
BEMN - BRI T IR AU IEEE 155,870 173,120 229,000 210,000 91.7 %
HEENE-NHESHESE 2,029,600  2,263,600( 2,268,000( 2,636,000 116.2 %
EERIRRFIEHREE 17,598,790 17,598,790 18,760,000 18,960,000 101.1 %
SENTES RIEREXIERE 15,947,988 16,182,870 17,554,000| 18,654,000 106.3 %
ENEYC S Wiy 7 R EE 570,000 657,560 693,000 693000  100.0 %
(2) BEMNIEZENGE) 18,900,789 BEREO-HREHEKRBEA —
(3) EES# 28,780,935 14,826,330| 17,743,000 20,725,000 116.8 %
NEERTEBEELEE 2,135,085 2,012,394 4,440,000  5434,000 122.4 %
RENEIZEXE 21,193,447 7,967,747  9,290,000( 9,462,000 101.9 %
ZDthEZE 5452,403| 4,846,189 4,013,000 5,829,000 1453 %
INET(B) 105,530,441| 101,273,867 106,723,000| 111,396,000 104.4 %
wiatE (C)=(A)+B) 181,005,225| 175,256,646 194,140,000 201,926,000 104.0 %
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